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TEACHERS RECRUITMENT BOARD, CHENNAI -6 . -\~
 Written Competitive Examination for o
'Recruitment of BRTE in SSA ( 2008 - 2009 )

 GEOGRAPHY

Time Allowed : 3 Hours ] | _ , ' { Maximum _Ma_u'ks: 150

Each question carries four options namely A, B, C and D.
" Choose one correct option and mark in appmpriate place in the
OMR Answer Sheet.

gaGarg oleoralped A, B, Coppd Dsrdum préig oflaL sl
- prouc@ereren, sflurer afloLow CprpCsbss OMR aﬂml_sgrretﬂén .

| Sgparear QLsHie ghil_ab.

Who was thé.Viceroy of India, when the Rowlatt Act was passed ?

A LordIrwin B) Lord Chelmsford
Q) Ldrd Wavell D)  Lord Wellington. .
G\Uman_ BLLiD pHeOLpULGSsiu L Gurg mmé\grru.urra, @mhpeut u.lrrﬁ' ?

) . Gyraller Sy : : B) = Qebev@uri® Sy
'} Gaeue Ay _ D) Qeuelhi e Sigy.

~ Which one of the following is the softest ? o

© A)  Sodium B) - Aluminium
C) ‘Iron ‘ D} Lithium.
£955MLQJ¢@6H 6T§j Lﬁl@gmrrsmgj ? 7 \

A Gergub : B yeudefiub
C) @oby | D) &gHub.

As a non-member who can participate in the proceedings of either of House of
‘Parliament ? - :

‘A)  Vice-President ' . | o B) Chlef Justice
J}  Attorney General S D)  Chief Election Commissioner.

BILTE@BLED @® Soasalgn o pllernt g_qémrrgs wri @@suﬂ‘ g U
BLeug enaseaile ki Cmeler Gugib 2

A g Guursd seealt B) g;meucm,m AT 7
C) o Lriaf Cigeyd D) goamn Cifae Sy,
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. Which is the river on which Indira Sagar Dam is planned to be constructed ?

A Mahanadi B}  Godavari

C) Krishna O} Narmada.

abs bdfler @nsEts @ndyr enait ggsmewr sl e dh oo Qefrergy

A werpdl B) Gargmeuf

C  dpeivamr D) prwgr.

The first astronomer who gave the idea, ‘The‘earth rotates on its axis’, is
A)  Bhaskara | B)  Aryabhatta

C) Varahamihira D) Kalpana Chawla. -

yed et i&dflé FPeaipg) ersuruang @geﬂd: Csfalss areflud adgpt Quuwenryé
@nﬂud]@aa _

A urdvenm B gy

O  enradifabiyt ' D) aduem srsier,

Which one of the following angles cannot be constructed using an unmarked
ruler and compass only ?

A 75 B 90
g 500 | D) 22;°

gpsargnid Coremm 2jeney&eflé serall_iurg sereyGame Iy Wrmué'lsm_'
2 gallure ahg Caramgamg cueTw @luesTg 7

a4 75 . B) 90

o 50 . D 22%°

For a Frequency Polygon, the points are plotted against

A) ' mid-point of the claés interval vs frequency

‘B) lower limit of the class interval vs frequency

Q) “upper limit of the class- interval vs frequency

D) real limit of the class interval vs frequehcjr

- O saian valsnarsdd yerefser T5DG eTdirreas @ﬁ&&uu@é\m@ ?
A iy G Ceuefidlsr BOUYstefl .vs HtClevetor

B)  eugtiy @mu..@me‘ﬂuﬂdrr SlpeuyibLyliyeiel) vs EtGeucds

O aguy @mL-QmeﬁllﬁlﬁT Cudaumbytiyeiel) vs ot

D)  agly @am.@m'eﬂuﬁlsﬁr s.aorenn auFibylieref) vs SBF Cleugor.



AICTE was established in

Al November, 1945 B) November, 1955

C) November, 1985 ‘ D) November, 1975.
~ AICTE figieutiuc.L gyeoor® '

Al peubu, 1945 | B)  meubut, 1955

C) meubuit, 1985 D) peubu, 1975.

One of the main publications of John Dewey is N

AJ Secrets of Childhood ¥ - B) Education Today

C) Education of Man D) The Social Contract.

soreit GCaudietr QeueMuipaefler édlunreng o

A Gpbost e Jafub B) @G&rmmmfﬁ sdall
Q) wefgaier sl | : D) swsmu guu,rbgu:

10.

11.

According to David Ausubel, “Verbal Learning” is

A) learning a new language

B) oral practice

C) understanding verbal lnfonnation

D) passive learning experience.

Gl @ &sCudelar aEdaluy ‘curlo)flé emj:goe‘b’ eTeTLg)
A yPuQmf gedions shnis Clemeag |

B) surrLLlG\mrrbﬂu uwlhél ,

C) mrrmsubé‘lﬁ FHeuGGeTL qaﬂﬁg:@arrsfrma :

D) Qewahp SO SEuueub.

The Southern Regional Office of UGC is in

A)  Hyderabad ' B) Bangalore

- C}] Chennai D) Mumbm

12,

Lhsmessps braflus G (UGC) eﬁ\aﬂ Q@ weoTL - .gqgume»a:m ammg,gjmerr
o _-

A)  evanayTUTS B) G\uu’a&»@ﬂ‘.

Q) OQearee D) A aplbeau. .

National Population Policy was evolved in the year

A 1976 - "B) 1979

C) 1986 s D) 1977.
Gaflu wéseT Qprams Carsiams CorhpalssiuL & |
A 1976 o B) 1979

0 1986 ' D) 1977.
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13. According to Abraham Maélow, ‘Self-Actualisation” in the hierarchy is
A) first step B) final step
C) third step E D) fourth step.
Srerd wrévar-alidr Lyfloaadd ‘saallopey adug
A wse Hlaow _ B @Qné How
C)  epepris Hlevew D} preiemd Hee.
14. Who is the author of ‘Emile’ ? '
Al Dewey ) - B}  Bertrand Russell
C) Froebel D) Rousseau.
‘Emile’ arastugetr &t ' ‘
A @d B Quitpear gevend
C)  SuGrmrGiue D) mCerur. !
15. The university that has no affiliated colleges is

A) Madras Uniirersity ,

B} Madurai Kamaréj University

C©) Thanjavur Tamil University

D) Manonmanium Sundaranar University.

sagyrilsef @msﬁmq alens usi»&smmés&,gpmb TS NETH I
4)  QFHTDRT Ld&Heneéspsid

B) wbgieor sTwgret Lhsanesspa

Cl  s&oms sl uhsmasapsh

D) wGearrerweiub shgyemi ué:aw:m&a,ypaafn.

16. Human Rights Day is

. -
A) Decembear 10 B) December 7 - '
C) December 26 _ ' D) July 17. -
ey 2 flamwse Herh ererug
4A) gsbut 10 ' ' B wgsbut 7 o
7O genut 26 ' D) wooe 17. - B
17.  Which one of the following models is not on curriculum development ? !
A)  The Tylor model B) The Ausubel's model 1
'C) The Taba model D)  The Hunkin's model. * J
Sp&es oyl &g séve ghur@ euerédde Qeritlaerss 1 | '1
A eLeut wrdifl B)  ss0uediar wrdf

Q) wrur wrdd D) apsridlaradlet wrdfl,




18.

19.

o

‘ 20.

The chief objective of pre-primary education is to promote vressrenseessnreneens Of the
child. ' '
A)  physical development ' B r‘nental development_
C) social development . _ D} overall development.

- et ybubsaaidler apédu Gprésnrang
A e auentsdl siflafbgsd

B uwaaertéfowu sfaflssa
C) sy auents How faNsss
D) 9|_®G\mrrg,g, cuenit&&lemw ,gqéﬂa:rﬂgg,a)

If the teacher finds in learners activities something new or original then the
child is supposed to be

A) intelligent : B). creative
C} critical ' D) motivated.

@@ @g;;bang.uﬁ!s&r ﬁr_r)r,l)eu Q&mmuﬂ@&mﬂe\) glsgud L@grre. aﬁomg} srumrmgrra: 0. |
s fifut sco_Pharée Sbss Gpbosurag.

A usderd B) gsepdpgeorweardt
Q) dpermbapflsseut D) sma@cﬁ&.mme.
Which one of the following is not a learning domain ?
A) Cogntive domnain . B) Psychomotor dnmain o
C) Physiological domain : D) Affective domain. .
s?&pma.m;mg)@jsfr &ihe pep) s@mm uGE @eenrsg 1 B
A  splop ugd | B) LW-@M&@UU@Q
| Q) aLdwd ugd | D) .. | Lmﬂ'éaﬂu U@,

Which of the following factors caused the decent'ralization of cotton textiles in

. Tamtii Nadu ?

A Avaﬂability of hydel power

- B) Avail_ability of raw materials

C] Wide demand for cotton cloth

Dj) Labour cost. N

[ Turn over
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Spsaaie sryefacie eg BUPETLYS LGsd Cpsauramasndls urwugse
STTEEID 7 ' '

) dindler 868 Hearl sme

- B gpelburgpeisst faoL g
0  Lesd gefleass sfle Caaa
D) Qgmflerentt ened.

22. Which of the following is correct order of cities in India in terms of
- 2001 census ?

| A} Mumbai — Kolkata ~— Delhi — Chennai

B * Mumbai — Delht — Chennai — Kolkata

"' O Kolkata — Mumbai — Delht — Chenna
D) Delhi — Mumbai — Kolkata — Chennai.

2001 w&slOgrerns sensQs@ullaig - @gbélm b & 17 gy o mrﬂsm&@smp
Epbsa_cupper ag ef 7

A @besuy — Qa.rrs'naséﬁrr — Gh_duell — G\&a’sr_msm
B @deu — QL) — Qedranar — QardwaisT
o) Q‘aarrdu'asﬁﬁrr — Wphesu — QLdeh — Qaesremer
‘D) Ghdoed -— @I.'DGU)LI — Qardsgsr — Qeatae.
‘f 23. Vislble portion of electromagnetic spectrum is between

A 0-3 to 0-8 micrometre B} . 0-5 to 10 micrometre
C] 04 t0 09 micrometre | D} 0-4 to 0-7 micrometre.
Berambg 2 BOW%uTe cugaugHle SHEHNEUSGT LelLHD LGS

A 03 W 0-8 owsCrmbiLi B} 0-5qgé 1.0 mmé.égrnﬁ’l'_;_rf _

C) 0-4 @z 0-9 wsCrmbL.Li D} 04 wse 0.7 @m&@r}‘l‘l’d&t_ﬁ‘.
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- 24,

.
Land use of an area can be shown best in
‘,__ -A) Bar dlagram B) Graded symbol maps .
. Q Pedagram . D) . Linegraph
@ﬂpﬁﬂa&r BRI LGSTUTLLEIL corerrecnsiasnisess . apevid ;r;eur@ e,rrl..t_mm'n.
| A we ofleremid - - B ﬁg@ﬁ@ c'muq -
.C) ‘e’ euanUULu) , Di GETI’L.@ mmquuﬁo

25.

26.

27.

Telugu Ganga»project agreement is betw€e~n the states of

A). Maharashtra — Andhra Pradesh — Kamnataka — Onsﬁa

B) .Maharashtra — Andhra Pradesh — Karhataka — Tamil Nadu' v
) Andhra Pradesh — Kamataka — Orissa — Bthar

D) Andhra Pradesh — Maharashtra — Orissa — Madhya Pradesh.
Qpe® Sh&T éh_t_m guu_ﬁ,g,m .................. 8 mw;ﬁlm&@éﬂmﬁ_em qr(buu@sflmm.'—
A  vsrgreyggT — SLHSITU NyCaan — atpT_&T —-—@lﬂerr o |
B) weryreugyT — bHy0 JrGgeb — sTpTLET — ghPBTE -

‘C_) 25870 SyGped — siprLET — gfler — Semt

D) sbdol |5\|J(3§,au) — wanyTeygyT — Giler — wHHut ﬁlq@g&m

Hydel power potential is more in the continent of
A)  South Africa . Bl Asla
C) South America - D) North America.

e 58 Hpett HFlab 2 efren HesorLD

A Gger OAsaT o 'B) .%éh;m |

O Gper s@uRseT D) e s@ufber.
The share of urban popﬁlat_lon in India as per 2001 census is
A 27:78% B 32% | |
0 3118% . D) 25.7%.
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| 2001 b c%cmmq.wr L& &6l G\g,mmaa aacm&.@a-@mﬂaﬂuu} @gé]u.uraﬂm bS]
'.mamsﬂ@g;rrsmas S(6TQY
A 27-78% . | B} 32%

O 31.13% D) 25-7%.

© 28.  Block mountains are formed due to

. A Faulting , .~ 'B) Folding
o Cj River e:;oslon D) Glacial erosion.
o IDEDQIGBE woerrreorenesees 26 Cprempdlatpe. - '
A lﬁlsnsq&,sfr : B)  wiglyser
O e afisse - D) usfury oifsse. )
29. ’th-: process nivolving addition or loss of heat without any heét exchange is *
~A) Adiabatic process ! " B} Normal lapse rate
B C] Diabatic process =~ D) Condensation.

Qeutis uflorhpib @éerod Geudiuib su@gsh Sfgl GOpEH O\Fwe TGl :
A .gqq.mrrurnq,as Gz - ‘Bl @ueéwres eurlieh cﬁ]éﬂgm
C) ruwurgéd Cewé D). @t aEplese.
30.- The average density of the earth is
A 55 | B 27
o 35 | D) 97.
qaﬂ\@s&r agrefl oLigd
A 55 - B 27
o 35 | D) 97
3"17. .. The activity responsible for soﬂ depletion is '

A)  Afforestation B)  Deforestation -~
Q) Quarrying D) Mining.
wasor S fleusD&s 5.I'I'Ij'€QbTLI_)i'TSDT Qlawé | )

- A sr{eemen suerrr'r&@s‘o : B} a:rr{l,\&;smén SPidpe
C) &apsamer Careong asse D) e&rasb Gmﬁ@;éu.
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33.

9 , - 809
The Head Office of the Cyclonic Waming Centre in India is located at

A~ NewDelhi . } ‘pi‘ Kolkata

C) Chennai = D) “Mumbai.

@huralid. @,;Dneuaﬂ assfléons ovubsafer §GG)GU66)LDN.I6»I.D ............ &
S gisTeng. | S
A) qg,:@u.éueﬂ , ' B) . @s,!réue.ﬁgrf o ' ‘ i
Q) OQeerenan D) @fns;lu. |

Satellite data éui: available in the form of

A images. - B B 'digltaldataf': " /
- C}  hard copy o i .D] photos. | _
@&mﬁ;@a&@&ﬁeﬁ eurhaer ..... S - suigaflés a‘zlml_&aﬂmg)m
A) - ugBseT ' B gl e «?Slugm,
C] B msml;fu;g.g;rrmmn ‘ - D) ysssluL_hisel,

- 34

Which one of the following satellites produces Stereoscopic Imagery ?.

A RS B)  INSAT
o oyispoT . - D) LawpsaT. ¢
| afhpasamt_sug)ueﬁ oy Ceubenss Gmmei uprfiom s L.I[S].LDIEI&':GU)GH’ L@G}JFI’E»@ﬂl"Dlg] ?
A) .gyr ETen ‘ B @everc '
C) el - D) Gmaﬁsn'_&rrl'_.

35.

4
~ Biggest fish producing area in the world are

A)  coastal margins of middle latitudes -
B) coastal areas of tropical latitude

" C) interior lakes in continents

D) polar areas in Northern Hemisphere. '

2 adfler sfla syerallé Lﬁ'enrr ﬂqm@m u@dlsetr -

A wsfu s sGreme aLbser STEnEIL) u@ﬂ&srr
Bl SueseRiLe SLheo LGdast ]

C) asam.wssflld 26 Sewhgerer ghlaer

b} auLGarenrirés glq_r,sﬁu u‘@éﬂ&eﬁ.
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36 As per 2001 census forest occupies ................. % of the total geographical
- . ... area of India. : .
A 344 \ “ B 205
. 23 D) 17,
''2001 b &R wheL Ogrens &eoré 0\ EUNeiTLg. @;bﬂmrraﬂm qaﬁluﬂtuso urinstéo
snr@asn .................... &gsﬁﬁ&.ﬂmaﬂ Qo i {efrement.
N 844 | B) 205
| .C) 23 D) 17.

| _3"7.-__ ‘Oceanographer canydﬁ is located in
" A dian Ocean B North Pacific Ocean
"0\ Atlantic Ocean | D) South Pacfic Ocean.
gGFquné\unuﬁ Qschurer pyepgieior @i |
Y @Eﬂ"-' epdiyd ‘ B}  awfis supsdyn
-0 ap,!.a;rrdbrq.é: SWHATD ' D) Qger udlls aqppdlnh.
38;' _ The sahnﬂy in the oceans is high in
31’\ between 20'N and 40'N latitudes _
' ,'B]- between 40°S and 60°S latitudes |
| o 'betﬁreegs'N and‘ﬁ'S latitudes
D) between 50°N and 70°N latitudes.
sppdlmimeies 2 cutiiensy fs aé]amrreaé STEILED UGS
A 20" b wes 40° arLbe o1 sCrmeiued
Bl 40 Gspe wsd 60° Ospe eieCrasiues
o 5 UL &G WPBe 5"-@5:‘,’0@ S eCranatiugd

D) 50 QUL&G (psH 70° uLéG SLeCreavaligd.
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| ' 39, Which of the following 1s incorrect ? e s
‘ - A EstuaﬂrIe Delté_ - River Rhine a
- " B) Fan 's_hapé.d Delta ~-  River Nile . - '
7' K ) | o ?hds foot type i)elta — Ri_v;rcr Mississippi'
J. . D) Cuspate.Dcl‘ta: — River Niger.
* af@é:a;sotrt;.mgb@a? g HOuD T
\ A) Qunlﬂ@@é’ G\L@gw — lsml)‘eirr 20l
‘._, B) Al g eu GéLr —  ope A0
' C) 'l__-|;|_)smsu£|/|.'|rr5 G;il‘_-‘é\)!_rf‘ —_ Lﬁ]ﬂsﬂlﬁ] 40
: D]. wﬂu.l 2 e QLér —  opgf 0.
' _ | 40.., HIl‘he cycle of pediplanation is related to 7
B f‘A)i-“ C. H. Crickmay B L. c. King *
3 : Q) ‘ W. M. Davis D) Penck.r , ‘
/ > ;_Q_LerLﬂmeae&r FPHE i, 2 L6 QgﬁLﬁquwa.
© A C.H. Afawmd B) | L. C. O
o C) . W. M. GLafld | D) Quis.
~41. G.P.S. consists of
- A) three segments B) four ‘segme"nts‘
- C) two segments D) five segments.
| yad @l,aqe»w'cq Glg;rr@él ceerensmsssnnmnion I@GHBEODETE Qﬁrrdun_l@.
A oopusded B) preéng ugdee
a Qe ugdlael D} @by s
- 42 ~ Which is not a natural ecosystem ? \
L A Forest | | | B) Grasslands
e C)  Deserts ° @ Crop lands.
E - ‘ [ Turn over
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| érgzl Quibersd @pihleves wbT_ainée 7
A snQ@eer | 3 B} yaGkuefl Mlevks e
0 ureswaedsd D) ult Dekmer.

43. Contferous forest in India occurs at the altitude between

A 2700 m-4000m" B 1400 m - 2000 m

) 1500 m - 2060 m D) 500m-1000m.
@ﬁﬁmﬁaﬂsﬁ wndlflemeds STRBON  .ooevvrrrernrnn.nn. | 2 UTRSEREE @SUJI;GUJ |
Ggmemydlemper. ' 3 -
A 270008 -40008 _ B) - 1400 - 2000
C) - 1500 - 2000 D) 500 - 1000 .

44. The type of forest which occupies‘ maximum érea in India is
| | Al Mangrove forest | B) Evergreen forést
© Tropicaldeciduous D)  Coniferous forest. N
| @5@@@516‘\: 2dla ‘ug&ﬁlé‘n ST EALILED 5ntqﬁ s | | | oo
llA) m&sﬁg@g&@'&w@aa‘r B usew WTEITS ST
o) ..'aqu.u;m weiLe Gooudts sthest D)  snddoes aan'ﬁ;&sfr.
N 45 .‘Coral reefs are largely found between
A 25N and 25°S latitude  B)  5'Nand5'Slatitude
C)  30°N and 60N latitude D) 30°S and 60° S Iatitude.
- ipomal LTt HFlsb ST@TOUED uGH

A 25 b pee 25° Qshe 2eb aueny

B) 5 aLég was 5 Qshe o eb sueny
O 30" auLb@ wae 60" auLsg oy eb auenly

D} 30" Qzhe was 60° Qspe oiL.ebd Uy .
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46.

ST I . so09

The.we't point settlements afe_ common in. B | . G/“ o
, A] Intéfior of Deccan plateau™ B) | Coastal plz;un of Kergla ; B
Q- Deltaic region _ ' ,D); Rajasthan p};rixﬁjé. + R
Birfleme &rrr'r‘r_’r,g,.'@wrlﬁl@théa‘r QUTEITE ........ m U@Quﬁ}é\) 5ndnnau®£!p§|. ) |
A ghenem Gy B 2 L ugd - B GE:I)‘IGTIAIT' a:u..[bs,émjﬂ ugdl f
0 Guenr é.lu_.Lt.rrgnﬂméfr - D) "@]qr‘r_gdugrrdsr &m@?ﬁ'sﬂ&a’r.

.- Which of the following is correct ?

A T'Aﬂgvial_fan 7 J— Wave deposition ﬂ., ) o " ;.
B) ‘M'Q‘raines —  Glacial depositidn N ,‘ ;

Q) Barchan B —  River Eleposition‘ |
D) Stalagmite —  Wind deposlﬂon. g

Spssacubniet ag ol 2

A ool ol 00— é{méu uu].cﬁlﬁge’u.
- B Qureyen — pesflurgy Lg edlgg e
C) utamen | —  yn ugaize
. D) ﬁ'l)L.ITmé@I.BI'_ = srppugeldsd.

48.

k A)  Nitrogen, Oxygen :

','Chemically-inactive gases in the atmosphere are '

B) Carbon dioxide, Oxygen -

C)- - Argon, Neon |

D) Carbon dioxide, Nitrogen.
cusfilwedor_ewgSleusiren @lyemuet Q&ms\)fogo mﬁq&&eﬁ -
A oplyges, q_;,éérﬁ]ge&r

B) a,;rﬁus&rmL 25, 2, Serdlgneit

e S\ &mes, Hlures

D) amiusienL B &enev(p, eMpLIFmeT :

" [ Turn over
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50.

51.

52.
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A 20m o . B

O 10m RS

A 208 | B
Q 108 = D)

I_n G.I.S. Raster data are

Al Points — Polygon | B)
C) Points — Lines ' D):h

yelifluer paeuc yewiilles prev i eflLyiisef

A yerefllaeh — L&GaTeas s1L b B)
C)  yehrellaer — Car@aet D)
Coral reef Island is

A} Bermudas ' B)

Q Hawatian D)

Goosint Foy aatiu@ag

A QutgpL ey g . ' B)

Q. apeurdietr D]

Urban field refers

B) central business district 7

C) land located nebre_r to urban area

- D) area served by the urban, -

: 'I‘he minimum detectable area of ground by IRSID Pan sensor is

58 m

725m

« IRSID urélr Qeenam a_m@m Lﬁiasés@mp;bg geog e uquq

5.8 ¥

72.5 4.

Lines — Polygon

Grid — Gradient. -

Coar@aeh — uhGarams sl

A — afley qurc Lid.

- Azores

Dhanuskoti, -

SI@gmitav

serciyGamy.

" A) ' land in transition between rural and urban |




53,

54.

15 R 8-00

| pSITE&HETD crsuruu@sugl

A Ayro wHpi ga,yg,gglrj)@ @ml_.@tu 2 _efrem U@Q

“B) - enow ailqururrg DTeULL (D

C) gmﬁﬂu@ﬂéa@aﬂa‘{ a@m[basﬂm @eouLl@f‘

D} BETESTE LLETOLIDID uquq-ugﬂ - N
The intensity of the earthquake was maximum in'
A}’ - Bhuj earthquake in Gujarat ~

B) Koyna éarthquake inMaharashtra

) Uttarkashi earthquake in Uttarakhand

D) ' Latur earthquake in Maharashtra.

-. rf,]m@;é,]rréél .,w.rfﬁ,é] e a[é]a,mrra, .................... @ Qmbsg.

1__\)_- @wmﬂ@ bé '.ﬂmalﬂff&eﬂ

B) maarrg‘rrmq.gnaﬂm Q& Hies .gqﬂﬂ'éeﬂ
C a_gﬁ,'lr,rrr@aeﬁleu 2 8yand) Hesuitsd
D) wampweiggyrale epgrt Heosyglited.

- Which of the following is incorrect ?

A) ‘Oxbowlake =~ — Humid region

'B) Tam —  Glacial reglon
C) _. Playa | — Limestone region
D) | Créter . e | chlt_:anic region.

Epsscioreuppiet g Seugy 7
A @ﬂmaé@mqu gfl — Rrylug Euﬁurg_’nb |

B) |__rrr'rsérr: —_— uso'?lu.lrr_fgggj sulLmyib
Q)  OCemur —  SEtTEOITDL UTEm) eui_L b
D) &Gy _ —  eflwere auLmyid,

anwa
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Which of the following is not located by inspection ?

- A Mode : | " B_) ~ Arithmetic Mean
Q) Median D) Range.
' a?pme:ml_mg)@m Criyis %m@q WD STHaMNS ST WYGUTF ?
A ws@ . . Bl s (Réspmaf
O GeLpos D) alés.

- B6.

The tf_:_mporal resolution of IRS is
Al 18 days . B) 20 days
C) 4days . ‘D) 24 days

oY A anmmumnm G]&tu;oms.és@e.rraﬂm s.rra)uu@uurru.wq é,]msur

57.

A 18 pal el _ : B) 20 priseh
C) 4pmisar ‘ D) 24 prisef.

Snow eater wind is

- A Mistral B) Chinook
| C) Sirrocco | D}  Bora.
veflenws sriuf@n smpy srswuu@cug,:
A T » .. B fers
C) Ayr&Geam S | D) Gurgn.

58.

Agulhas current is .

A)  warm current in North Pacific Ocean
B}  cold current in South Atlantic Ocean
C) warm current in North Atlantic Ocean

D) warm current in Indian Ocean.

SGohapTey B8y L

A audlils swsdpsdaysier G BerriLb

B) G o eraimgs 5@5£gsﬁysﬁm Gt B@rm_Lb
O o s eraings swsysdester Gai B&yTLL b
D) @rj;ﬂu’.l spdysdlaeier Qeur $Gym L,
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GPS is used for ' . ‘

Al ineasurlng' the distance B) fn_apping

C) viewing the object D) - tracking and locating.
yell @ siemwey CgTEd .......... &@ vwsTuDADg).

A gTrses e

60..

61.

62.

B) Gmﬂq&mm 2 BaUThGEe - ,

C Gurmeflerear unr‘rmmtﬁ]@g& T
D) &L m@j@fo 2ewellgdlaner FIL . |
Global warming is mainly due to

A)  increase of N,0 " B)  increase of methane

') increase of co, . - D) increase of oxygen.

I.|6ﬂ CaLueTSeIEE upsHdu ST EooTlD _
A oplydv s odefsss B} ﬁ@g&&imﬂq 2ifsfggd

- O arfudioL geonf odsflsse . D) %awﬁlgem aqé\a,rﬂggaéu

The leading producer of Bauxite in the world is

A)  Australia B) - USA

- C) Brazil - D) India.

2 adld sflaemey ursemsr o Huss Qatﬁtqfn BT H

A oy evfiGyeiur | . B)  oGuflss g ;r;rr@é:aﬁ
C) Gy | - YT

Which of the fo]lowing is incorrect 1n terms of its nature ?

A Kalahari ‘ B Gobt

* C) Atacama o “,'D) . Arizona.

B SiueLdd FpsaciiLeubmet argr seupy 7

A swoapmfl | B Gamf
0 aqn.arﬁnrr ) D)  yfGsmemm.

[ Turn over
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63. The vertical distribution of termperature is mainly influenced by

R\ hisblat:loh , B)  Nature of the surface
Q) Winds | D) cmuds.
QBI&I@E@ Qmﬂu@mw ) 17 K& hduors urHésuGEng.
A Gadperie ‘ B) 5@3@6&! SHEBTEOND o
Q) srhpeet | | D) Goswser.

64. The deep divide of Dolphin rise and Challenger rise is
| A)  Puerto Rico | ' B} Tonga
C} Romanche ' _ D} Marlana.
Lréalledr wemevemwiyd Gaeghsit ianemenLiyb Glﬂ&gm @
A Sy trGLrfGem | | B Gumu@ar
‘. C).- .Glgmmrrc&ré | D) whurerr.

65. ' Satellite Remote Sensing developed from

B AJ" 1900 AD = B 1930 AD

C) 1950 AD . . Dl 1970 AD,
QWP BEBETE QBTEPGURITIR +rovviverrrerseses éu-@@;bgj suenfré&d @érrsdﬁ@eﬁen@,
A). .4, 1900 B é.8.1930

O #.0. 1950 | . D) #.8.1970.

66. The functidmng of an ecosystem mainly depends on

&) pattern of energy flow B) nature of land
O climatic conditions | | D) biotic and habitat.
| BpBoe oo ebfia QELGLITHOSR ...rerrrre ‘g erbgiseng.
A).' #5680 Qursdlar cuans B flegdledr seétew )
C) srafloa gpboase D} s Siflew WHEKD a_smﬁmﬁh_tb_. ,

=




67.

68,

Which of the following is not a coal ﬂeld ? | _. |

AJ Shansi-Shensi in China o B _Pennsylvé'niaii_n USA~
C). Kuznetsk in Russia | N ' D] Lorraine in France -
SpéeeT_suppiet gl [f)leot'ﬁer.rﬁ 'mweu‘e'l)rs\) ? | | . |

A é’sa‘rrmﬁl@;frm grré'sre@lz-@gds&r.él

B) a@mrﬂ_é&. p&dlu priigeueien ClusrFleGauefur

Q) @reyuralgyster GevpLavs / |

D) zﬁlgrreb'rélgua'mrr Gla)rrmgs&r
The oldest mountain in tlne world is |
A) the Aravall . - 'B) the Appalachian
C) the Alps ) o D) '- the Himalayas’.'
2 wdlé Hs upmmmﬁsﬁr mmm'ﬁﬂgﬁLﬁ - '
A gyeusel - . IR B) VJ{ILIVLI(BGDG)QI.IJGBT
- Q %éo'usi.u . _ | D) @Lomm@mé;@g,m_r‘r.

69.

70,

Which of the following is not a fault landform ? - ' - .
AL 'Black forest - ' B) 1l-T‘linders mountain
L Cl : ’ Nappe o D) Torrcns valley

&y gpaaescml_sug)@en &5 t&lemﬁlarrrrsu 2_ (e eoT [f;ls\aﬁ (Eg,rrg)g)mmm o

o A) : 5@|_u.4e5 &rr@aseﬂ‘ | - B)  Sefleritev wemed
'C} Qs C 1 D) Gl_rr:;st'srw ueﬂeﬂﬁgrrﬁ@
'I‘he ternperature decreases unjformly in the layer of | '

o y ’&) | Tr_opOSPhe.rc ) , B) Stratosphere
»'C)'_j-'MESO;spl’lerg Lo - D) 'I‘l'lermosphare “
@suuu@me\) ...... éﬂ@&tﬂm @(Bl;r fyra @mrprrr,g] @a,rrm@n_ Q&é:aflrpg]
A LCBUrrGurr_s'mdlu.lr'r | B) erUL_(Blet_rrsmtﬁlu.u’r
C) SGsmeviut - R

[ Turn over -
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71.

'72_f.

j743.‘

74.

20

The wave region used in photography is

A
B)

Q)

D)

s

0-4-07pm : 'B) 04 - 09 pm - .

A
O 07-3pm . D) 8-l4pm.
| Lemsiile s e " fysdagh ugd) \ '
A 04-07owsCyr f B) 04-09 eowslyr §
Q) 07 -3 ewslym . D) 8-l4ewslyr f.
GPS satellites are located at a height of 7 . |
A 700km B 36,000 km
C) 28,600 km D) . 26,600 km. |
yall @lLsiewey Qeupans&BaraiGa ................. 2 wrSdlér ammé&ﬂuﬂ@aﬁ_ﬂrﬁ.
‘A 700 8.8 - B) 36,000 .4 | '
C) 28,600 .8 D) 26,600 f.£.

-Commercial farming is practised in

hot climate low pdpul'ated»region
cool temperate sparsely populated region
monsoon climatic highly populated region

-tropical highland low populated region.

aurezflu efeusmub peLQupID LEE)

A

B)

a
D)

w&aeh Clgmae Genpeurer Qe sralae el LT
st Qgras Besgapsurear gaili BlsQeutu el myb
s mé;a,sf'r Qgrens Cerao uGaaTHE STeBae aLTTD

@anggﬁ;gs &G LIETEns QST ST eI 6 Lu.n‘r;&mm sulLyl.

Mountain system refers to

A)

o)
D)

A

B)
C)

D)

mountains formed in different period
mountains formed in single period

mountains formed in same age

mountains formed due to folding.

' ansma)g@g.rrL_r'r Sy Gllug

ume@ BreodHl Ggrrsomﬂu.l WEneIE 6
T @rﬁll_u_ﬂl_n__ aarrm5§§1m Gareiiu eneus el
§Cr awgs aragdle Camardu Weneus sit

wuﬁ,ﬂqeﬁenrrs'u Carethiw wearevmefr.
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. 75. The primary landforms are resulted due to o . | .
| :1 Al Diastrophic movernents . B - Displacement of rocks .
C].kl Denudaﬁon : : ' D) Weathering. |
@gs&rmm [Bea;b Gg,rrg)piumfr ..... reeeresnsieens 24 GoTETRIECETDE .
A .@t_@@ Bl ey B} .urrsmlpa:sﬁr Twed
Q) Gg,u.lcqg;jg;m . D) Sergeps.
‘ 76, :The amount of solar energy absorbed directly by the atmosphere is
A 15% | B 6%
O 18%- D 29%.
, -maﬂwcduﬂ_euw Ggqqmwa Luaﬁlgé\és@m @il ssdildn semey
A 15% . B 6%
O 18% | D) 20%. .
775 - A person is hurt on kicking a stone due to.
. " A) reaction SR B) mass
| o velocity . /D) momentum.
T sédlaner 2 ags@hGurgl Q@m@é@, 28 e;rpu@mﬂ THEOITED 7
A afrelemer - : B) (eop
| Q- HorsCousd o Dj 2 heib.
78. Which of the following harbours is not a natural harbour ?
A)  Cochin | ~ 'B) Chennai
Q Mumbai : D) Paradwip.
& poergmd @@p@ﬁmmaﬂa«) THGPDAPSHD @M{D@awnm GOPYED. .,giém ?
Al Qarsdlen X B) Qaehemen
C) @Lumu . ‘ D) urpgu.

' 79. Recently one Indian cricket player has become the Sixth Batsman to score
10,000 runs in Test Cricket. The name of the player is

A ‘Sachin Tendulkar B) Virender Sehwag
O SouravGanguly /D) RahulDravid.

sfupdle Gy HNaQar afyfseafic 10,000 GLLbsaner @Ld‘\)l_ %I_I_ﬁw,ﬁﬂa)
TOHS BLPTELZ DL afmﬂm Qi eresiedt 7

A ssdle QLBIBEsT B «iCrpdly Geeurd
Q) Qe shGN - D) gres Hyrall.

EA] o ‘ ' . ’ l . [T\Amover
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81.
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The battle of Wandiwash was fought between
4A)  Marathas and Portuguese 4 B) the English and the French
C) the English and Portuguese D)  Marathas and the English.

eubgeurdll Guri Wi wr e @sm_uﬁlsu b Glubpg 7
Al oITlguteeT nppyb Cun it & &SP et

B)  stdiCawtser wpmid WG ghar &t seir

O udCauisst whpd CuriésssSfutes

D) worlguiser whpio S Covwit sefr,

Linear programming is designed by

A)  B.F. Skinner B) E. L. Thorndike

C) L. P. Pavlov D) Clark L. Hull.

Crieufl Sl seng L@mné,eﬁ]wcurr |

A . el svdleramt B) @ T60. ST TG
-G erév. . umeiseuess D)  dlerrté. erér. amé.

82.

Which of the following first identified the Secondary Education as a weak link
and suggested improvement ?

- A)  The Tarachand Committee (1 1948)

-83.

B} The Secondary Education Commission ( 1954 )

C)  The University Education Comnﬁssion (1949)

D) The Education Commission (1966 ). _
SPpé s GUWEsEHeT a5 QL flomas seaddar mgué;tj)m Benevenw WpseiTpsedicy
s fibg, oigemer CubuBss ayfeens Fablugy ? : ‘

A pryrehs &8 ( 1948)

B @ofloes snals gap (1954 )

O udseessps swals gy (1949

D) soals @ (1966 ).

Intelligence test scores are reasonably stable after the age of

A)  one ' B two

C] five D) twenty

abs uBheier SETHALURD @mwm@@;é Csngeme mé]uqe:sfr ﬂmwmwmg ?
A ge ' ' B) @ren@

o) Lhe : ' D) - @Qwoug.




86.

84,

85.

87.

23 o , ' 8-09
Which one is not an S R theory with reinforcement ? .
Al E. L. Thorndike's theory |
B} Hull's theory
C} B.F. Skinner's theory
D) Tolman's theory of learning.
mgusgu@g;w.m Falg ) GTEIOIL So-Ficvhis el @mmrrgs G\a»rrefrmas

Al E. L. sriadneLd Qoreiens 7 A 13] ane Llamerans _
O B.F. svlienant Qeretens D) Gmdweien &Hpd Qanerens.
.‘The emphasis of National Board for Adult Educationl on Curriculum ls that it
must be
A}l need-based B) fmetionaI
C) job-oriented ' D) production-oriented

w&Cumt sdalssrar Gzu sumﬂu.:fb meﬂu@ggw &BSSeTu 5@m§é\u_lb S0t
Geuaoriq gy

A Caameudlar e dlé B) Qeuduriget Syqluesllé
0 Geumecumiienu Crméad D} =pusdew Cpréd.

World First Aid Day is ‘

A) September 11 o B) September 12

C) Septeniber 10 . ' _ D) | éepten‘iber 9,

2 s ezl Hard adug .

A Qeubur 11 B QsoLbuf 12

0 @stLbur 10 D) Qembut 9.
For the following scores

10, 11, 13, 10, 15, 17, 18, 15, 10

the value of mode is N

A 10 | B 13

) 15 D} 18.
péscorL LHICLTTEEHSG WHE i) sems [

10, 11, 13, 10, 15, 17, 18, 15, 10

A 10 | B 13

Q) 15 - D) 18.

{ Turn over
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88. Educational Technology means _
A) Teéhnology in Education . B}  Technology of Education 1
C) both of these ' D) none of these.
soal pruaiud adug |
A sdalfiud s uailud : B) sdaldler puaiud
"0 @remEw D) @eubmet agiopldee. o

89. Which one of the following is not a cause for forgetting ?
A) When something learned and not used repeatedly
B} Interference with :present learning
C) - Lack of reorganisation of the learning material
D) Learning on the basis of short,;tenn remembrance. ’ . - -
Fpéeaa_cuppiar ag eTn LHEHTET HTTEOTLOM 2

A spposd Hebu ey LLETLRSSTSS |
Bl spCurg shpé Ceremg@ludles FGur@
C) shpe QurBLsmener bR Sewliy Celwurss
D} epdu sre flaoaaldr giuac s spug.
'90. When the reason for acting is in the action, motivation is said to be
" A extrinsic " B) intrinsic

C) extrinsic & intrinsic © D) none of these.
QewdurLyperer aryaed GeUOLGSSILED QUITPS, SSHST T m&&ﬁu@ﬁ@g&
A G\msﬂﬂqm 26 HLLPHEHH | '
B) e eremnitps mé.a,uu@wg,éu
Q- Cleusfliim wppd 2 srenmihs eabslLBsgss
D) @m[b@efr ergieybldremey.

91. National Integration Day is

A) November 19 B) December 19 _

Q) September 19 : : D) May 19.

Gsélu guhdlarasiy Feorbd srsin@ , - o _ _ {
A peibut19 B gebutl®

C) Qedbutl9 ‘ | D) Guw 19.




92.

93.

94.

95.

96.

25 N 8-09
The importance of Teacher Education was ﬁrst emphasized by
4A) the Woods Dispatch V‘B) _ the Hunter Commission
C) Calcuita University Commission D) the White Paper.
8wt sealdar wedussasos wads audynsdug
A aldv QLavGulé , B) amen i sbleagedn
C) 56’\)5&,5W u@&@m&ag& gfloyer D)  Oeueiremets Hmelr.

Taxonomy of educational objectives was first developed by

A)  Mager B)  Skinner

C) Bloom D) Thorndike.

aaall CRTaamsefeT aMELLTL LT (WP (PpBHedies SiebHSaUT

A  Guoar _ - B) . evdlasrerit

C)  ueenb - D)  grichiené.
" SSA is established for achievement of

A Elemel:xtafy Education g B) Secondary Education
C) Higher Education , D) Vocational Education.
SSA eresTugl af@&&:e&mgewj)@eﬁ BT aHSHTSH gHUHSSIILL G 7

A QT _ées saal B) @eLfload sl

O s wisdel D) Qemfpudnd swal.

Whose philosophy is characterised as “Naturalistic in its setting, Idealistic in its
aim and Pragmatic in its method and Programme of work” ?

A) Srl Aurcbindo B) Gandhiji.-.
C} Rousseau , D) Tagore. _
Souidie Gupams Qardmesauybd, Crréasdle snHgs Cansiamsamuybd (peD

wppd Qsweur’ (s St sHe LuaTamamausds CETeiansawyb 2 cfiem_&dlw sdgeuld
WIT(RESLWE) ? ‘ .

A G sgeibs Bl orbd) opeeh

C)  enGerur - D) gmanf.
Multi-factor theory of Intelligence was developed by

A}  Charles Spearman - B) E.L. Thorndike
C) L. L. Thurstone - D) Dr. J. P. Guilford.
@mm@mm allendgh Le srradls Qarstasau CaTbnnilsseur
A srieey sulluroe ' B E.L.gmtaoeLs

Q). L. L. gieuLebr D) Dr. J. P. fl&Gurr@.

| Turn over
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97 The most affected area by 26th December, 2004 Tsunami is ' ’ {
| 'A)  Tamil Nadu B) Pondicherry

C) Andhra Pradesh | D) Kerala.

gabui 26, 2004 b HTH FHULL E'GBT‘ITLQU.IH'G'\) aﬂém urdlssiuc L ugdH -
l ‘ .Al - ghprrl Bl  ureingsGsrl | _ o

€} hdpn SipCgei . : b} Cegenr. 1
98. Father of Chipko movement is |
o .A). Baba Amte ' B) Medha Patkar
C) Vinoba Bhave o D) Sunderlal Bahuguna. - o {

AGar Qusasdler shang

A L obCs : B) Guésmaart : o |
C elCermur urGeu : D) &bgieme ug@%mﬁ.
99. Severe environmental hazards are caused by |
A) Hydel Power \ - B) Thermal Power
.lC) :Sdlar Power _ ﬁ) Atomic Power. .
' _.1.5_]&‘: Guratmen sHIEEps Jﬁ@&@é,sﬁ .................... 6 Carepdlepen. ]
-AJ Bider &5 | B od Weresd |
0 @fuesd D) Sgm esgl. | i_ "
100. Which of the following 1s incorrect ? | .‘ "
A) Glaciat platgau | - kGreenland
B Fluvial plateau - | Rewa plateau
C) Aeclianplateau ~ ~  Columbta plateau
\D] Lava piateau | — Deccan pléteau. .



A

101.

102.

103.

104.
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816 8 GToTL. DI érg] geum) ?

A ueflumgm) IEL_QT,LBT ' - ag’rfs&rsurfgbgj

B eypflame sjﬁ)ul;; Syh _ Gryeur S_iyf

O srpdemé ghucL ._m@ - Qe Syl
D} eraur Ly —  péaren Syl |

The oldest metropolitan city in India is

IVA),l; Kolkata B) - Mumbai

C) Chennai . D) Delhi.
@bdurales el Lpasvwrear Guol Gymumed e 5&51}&
A  QaTassgm \ ' B} qpbenu

C Qedremen : - D) QL.

The. largest slum in Asia is _

A Dharavi \ B) Bustee _
€)  Chawl | | D) Cherl. .
.&é]mrmﬂ@m@u.l Quiflu Gef | |

A sryrel . ' Bl ueve

C) &mé D) " @al.
The widely spread Pelagic deposit in oceans is '

A) . Redclay B) Diatom Ooze'

'C} Dust ‘D) Sand.

é@sﬁqﬁ‘uaeﬂe’o el UTeuers arestiL@b Cuergls Ligeaj

Ai_ ﬂasilqés &aﬂmé&m " B emLwmib G&@j

C) sgnéaen o D)  wewich. |

What type of agriculture is pl:actised in areas where réinfa]l is Vbel(.)w 50 em ?
A Mono cultivation _ N B}  Double crop cu_ltivétion _

C)  Wet farming D) Dry farming. '

[ Turn over
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| ' 50 Qe .S @eopaurs wapGumd G biaslld poLCupib alleusmuib
A goullt &fr@uu} | B) @mudit er@ug
C) 7 n:qﬁug ol afleugmud D) eupaor Ll aﬂm&rru.n_b.
' .17'05. Landform assoclated with wind action 1s called as
o Al Nunatak _ | B] Monadnock | 1 | {‘
‘;.C)‘ Inselberg - D) Hum. o
aTppé Qewa s Qariifyenw FlagCarhpn sram.‘xu@sﬁy
A @sureréa ' B} Quremm pré
0 ge@esuis | D) enb.

106. In piatc tectonic theory, the term ‘plate’ was first coined by - ¥

A A T Wison _ B)  A. Wegener B o |
C) Al Holi;ies _ , D). Leowthian Green.
gL@mLﬁée\a Qaneieanales L aeip curtSengemw qplg,e&s\)’-uus&ru@g@mmﬂ' o +
R A) i T. afléog e | | | ﬁ) A. Qeugeot
C) | A. Gaprbey D) Geaduer &ifer. | _ : 4

107 In .G_IS vector formation is
| A cell | | o B) ’ grid
C) gradient - D) polygon.:
Hofflue Boeud a;smmﬁd\é: QeudLit Qmmlﬂq |
A Qes | B A
Q) arﬂm@n.;;m, ) . D) ueGsmamné sLLD.

108. The concept of environmental_inﬂliences on man and other organism was first

~ . introduced by _
Al Semple | B} Charles Darwin
"~ C) . Demolins . D) W.M. Davis.

ol
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| : wetlgedn WwHyid sy Luﬂrﬂsmrﬁj&ar e &mgeg—,pe&m Lr iy 5@5,@9@@ @gs\ﬂeu
5 Geusfll et -
s A Gende - B) sried |_{rrr'rs)_51§:61
. T ) qGuomelssr’ | D) W.M. CLaflev.
“ 4 109 iw largest prdducer of Bauxite in !India is | '
“A  Gujarat . Jharkhand =
C) - Orissa” B " Db Maharashtra

- Qidurelles sifle sjeney ursme o pusd Gaiyib Lorr@sofo '
A g | | o Bl  sntésedonl _

C) @rﬂarr - D)  wsrymegyT. _
e best suited diagram to show the occupational structure of a country is
[~ Bar diagram ' B) - Line graph

. Pie chart Va " D) Pyramid.

G® BTy Qzmflorent semwiy elugsdaears s Lﬂ&sqm THD sueguLD -

A ulen ellemaaliuLin B} Garl@ suemyuLb

- C). eu-emil D) JdydE.
I’A Increase of population in India is dropped as per 2001 census in which states 2
VP Uttar Pradesh, Bihar, Karnataka, Maharashtra

- ' !3] Andhra Pradesh, Kerala, Tamil Nadu, West Bengal /

0 Orissa, Assam, Punjab, ‘Gujarat

D) Haryana, Rajasthan Delhi, Madya Pradesh.

2001 20 e mewm.@g,rrsmaa &:m&@a@unﬁlm‘ruq @ggﬂmnaﬂs\) afbpéaacomL' '
wrBeksefld mamn.@grrmaa Siflafliy @eonpagsiong

L A Lgﬁguﬂg@gsm Jaarrrr a,n'g,rrl_&,rr maagrrm:qgrr
B} %g‘hﬂqu ﬁ]lj@geu: Qsiyem, gtﬁlgp,rgrr@ (Bmp@ QuiiBTETD

Q - @rﬂ&rr_, 48, U@&I’[L&. SRITH

D) emfure, grgeugrer, GL_ded, wsdul GyCssib.

{ E : _ ‘ - i [ Turm over
! ) i} . i .
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113.

30
Thé city where living conditions deteriorate badly is
A.A] - Eopolis ' B) .Metropolis
C)  Megalopolis ' | D) © Necropolis.

eurpid @pHlemes Ble Gurswrs STET LD HET aes

A @)CurrGumedlen : . B) le'_(Sjrr(Surraﬂdu
O Guaser@ureien D) Qm&GrrGumedidv.
The greatest range of temperature occurﬁs at \

A) Poles

B) Equator

C) B0O'N ‘latitude over Asia and North America

D) Coastal regions.

- oifle garey QeutLiellurid) Gararmin LGE

114,

_A) Sl(HELEI ST
B) Bmﬁé]m@gsmﬁl.'l ugd
Q) S dur whpd e Cuiéaralsr 60° e o sb LGS

D) sLpay UyCgemae.

' A thick cloud with dome shaped cauliflower top is called as

" A) cirrus cloud ‘B _cﬁmulus cloud
()] 7 stratus cloud . D}  cirrostratus cloud.

@elorL areflierest augey 2 ¢ Qanaon. itps Cwaid aeniL@ag

A reéﬁ-)uelmstb' e : B B) dpeiCuaibd

O usLGwsid - | - D) efﬁ)@:ﬁluml_‘ Cuab.
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~116.
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Minamata disease is ,caused,'by_ R

A} Air pélluﬁon o . SR B)- ' Land boilution
C) Water panuuon o " D) Soll pollution. |
Benom_m G_rgnnh ......... -qi,é\r Ggﬁs&rg}éﬂmg.

A 'aarrr_‘r)@ oTELESS .. B Blevid wraL@H-
a mmu@m o o mmm;r&.u@mf

Tsunami warning centre in India is located at

)

. 'A) Kolkata ' B) Hyderabad
a _Chennat | D) Vishakhapatnam. |
.'._arremrmﬂ aéefsams @LWD @;bﬂu.lrraﬂé: erereeereaeneetens T QLéde
: ammq&agw.@m,mgl. : _ )
A Gsrr@&&.@ﬁ o . B gayrurg |
O Oserevear - . D) ai\&rraﬁun'_lq.mfn.-

117.

!

118.7

‘Cadastral maps are generally drawn in the scale of

_u‘m‘ 125000 o 1:50000 B 1: 500 to 1 : 10000 -
C) 1:50000 to 1 : 100000 D) 1 : 100000 to 1 : 150000,
Hlevcueny Gmﬂt}aéﬁ Qurréusu_rr& ........ unemrorears Senevaulés cueyuiUGSeTper.
A 1:25000 wse 1: 50000 B) 1:500us® 1t iobbo
C) - 1:50000 gpgé 1: iooooo D) 1:100000.apg® 1 : 150000.

The IRS 1C satellite passes the equator every time by

A 10-00 am. : B) 10:30 am. e
C) 930am - -~ D) 1200 noon. '
" IRS 1C QsupessGans Yo Ggms.amu @w@mrr@ Q.pm;mqm e
waié@ sLsHPE. | E
A)  10-00 am. - B 10-30 a.m.
C) 9-30 am. | : D) . 12-00 noon.
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A)  Jhum
C) Kumari

T QOPHHILGE D).
A)  g®b
C)  @wrh

32

119: The shifting cultivation in Western Ghats of India is called as

B) Dabi
D) Deppa.

- @by Cuhe woesGsTifée sraoUGD @l_fn Quuisd efleusmud et | _ {

B umi | ' 1
D) Qsuum.

. 120. The leading producer and leading exporter of coal in the world are ‘ : 1

A}  China, India
C} China, Germany

2 ovdle dlessiiou ofladb 2 push Qelyd HME whEd 248lso qﬁ)@mﬂ G!&u'.lqm

BT
A) e, Gl
Q) ferr, Qv

- 121. Tropical cyclone normally moves in the direction of - S ‘

A) North and North-West
C) North and North-East

Sjweré @goreuell CLTgILTS ......

A a&g wHrb suL'Gmrj)@
C) o ég whnd e Hipse

B). China, USA y
D} India, China. R 1

Bl denr, s0uwlse pedu prpser
D} @edur, fer, : {

B)  South and South-East
D) South and South-West. .

............ Fersuiies pa@D.

B)  Qspe winid Ceaidlpss
D) Qgbhe wppb C5nCuohe-

122, Which of the following is incorrect ?

A)  Canary current -

B) ‘ Benguela current —

C) Somali current —_

D) ' Antillies current —

Spéaeoicubpiet g Seun 7
A srenfl BCymlLib f—

B) Guhgenr FGrm s < — |

C) Gsrrmrrs& weymC L —
D) oy amgeleny f@gm;ub —

cold current
cold current | | | i -
cold current

cold current. =

@efli ﬁ(ﬁgrﬂll.tb
@sfit SCymLD
@i BGFmLib
Gefi FCrmiLb
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123 Which one of the following is incorrect ? |

A} Increaseof CO, @ — Global warming
B) Increase of SO, - —  Add rain o
- C). Decrease of (')3 - Ozone depletion

- D). Increase of pesticides — Higher reproductivé potential.
ggpésmssmumbusﬁ a5 efiudhe 7 _ ‘
A amtusieL qﬁmem@ sflafliy — yell Gasiuwworgé

B) séuieL S bomen® Sflafliy - Sibles wemp
| Q)  gQsreér DS o — . gQsmen _emﬁlﬁdu _
D} géﬂé‘aﬂmn&aﬂssm Syfladloy — GenQupss ﬂmmm SiflaNgzé. |
124. Kyoto Protocol is related to _ | |
A gobslwarming | B) caring for earth
| C} forest conservation ' D} biodifersity. |
HCunrGLr LLG&MQ.&@& .................... @egu_é1 Oty ug.
Ay 'Gimmummmrrﬁe'u . B yell urgisriy
C} sar@aeerd UTHETSHS ‘D) ué ﬁ.uﬂnﬂ_sm’ﬁ- uTeuds.
125.. The map showing states and settlement is '
'A) qualitative map | : B) quantitative ma_a;p
C) choropleth map - D) isopleth map.
wrflekse LppL Gy AGlysmers s Gty Gy | |
A grserey Colng B ,ysnafl'_@ Guotiiy
C)  Bphues Gl ' © D) emameﬂ'«.@ (Bu;uq
126.‘ Mathematically which of the following has most advantages ?
A Mean - B)  Arithmetic mean
C) Median D) Mode.
aanllgl vweur® Sy lueL e aﬁ’g,)&,&,so‘m_mmmjeﬁ g a{la [[,c&remmaseft
G\mrre&sr@sftargj ? - _ _
A sgmefl Bl el @Qésgrafl
O @oLfow T D) (s®.

F7s [a] | | { Turn over
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127. Wadis is a river iIn ‘ |
. ’h] Arid région B} Humid region
C) Coastal region D)  Glacial reglon.
EUITQ6M) GTEETID BTy 26iTeT UL LD |
A) sug;éﬁm_ aulL_rrb B}  #youg e Lmryb
| Q)  spsey eulLmmd | D) ueflurg e myis.
128. Baguio is |

A A) - tropical cyclone in Philippines islands
B) temperate cyclone in mid-latitudes ‘
' .-C} tropical cyclone inJapah ‘ , N
D} ant-cyclone. | ' |
urlGur erestugl ‘
A Oeluenusey g0 swens Gpreua)
B)  wpdu oy .smbs BHsQeulé gpreush
- Q) guurrsuﬂgusﬁsn Sjuend Gpreush
D) adiiré gpmeef.
129, The commonly used projection in GIS 1s
B A UM - o S | B) Lambert conic _
- Q Polyébnic . D) Stereographic. = | -

Helliflwe paeud sewinlley Qurgars LusLESEILED Caml (s s

A UTM ' B)  mbOUIL Sabys UL
, Cl  udambys '&Ii_.l_ji.'D_- | ' D) dumrﬂ@mrraﬂij'm_?lé,l &L‘.L_ﬁ;.‘_ ;
130. The Hawk in ecological term i " E
. A a pﬁ:ducer M " B} aprimary consumer
C) a secondary consumer D) atertiary conéurner. ‘/ -
@pPeoaduse 75@@, qSILG | | L
A o -Husdurent B 9B WeoFlame mHeTGaurt

bl

0 §® BreaoLrd Hleve metGort D oG apeIpTd Blene. gt Gourtt.



131. fl‘he most -densely popﬁlaf.ed .s.tate of India és fxcr'QOOl census is
A WestBengal . . '® Bhar
O Kerala . D Uttar Piﬁdesh

2001 <24, G119, 65T am&@a@uﬁ\s&ruq @g,ﬂmmﬂéu .9@5 Lodaaat_Gtg,rrena-. SLrE &
- Qaraim wrleb

A! QGuhe aumsremd | B)  damt
o C} Geggenr ‘ L D) Lﬁﬂqﬂ-ﬂu@gm‘a. :
: 132. The pattem of -setﬂemerlt in areas of fertile lands is
. A Linear B  Rectangular -
o Circular ' D) Triangular:
" euemoment ué@&aﬂé) sramiLOD Ggidply s
A et ugeud o Bl Gedius auged
‘ ©) éJLLl_ augad | - D) ws&CaTexr augaib.
" 133. Tsunami is more active in -
-, A near the surface of the earth B) lnconﬂnentalshelf IR
. "~ .C) near shore line | D) mldoceasﬁcareas | ;
: .arwrm&a.ef} ( Gamelrzel ) .............. uedHie sPanrs Qeudu@d. -
A ydsporse HEHe B s @00 ugdikh
.C) é;L_[ba;mi;r .,gqsbeﬁlé D) euwHdln s_q:-mu.ﬁug_ﬂﬁé:.
-1-3l4. ‘Wl;,l(:h-o'f the following is incorreﬁ ? | - "
< A V-shaped valley —  Rwer
| B) - Hanglngvalley -_ Glacier
O . Biind valley —  Wind
D) .‘ U-shaped valley —  Glacter.
st ubps T S 7
A 'VmeDlusﬁmﬁgm'&@ —_ .g;pj
B) ng@m uerengeThe — @ usflurgy
C)“ @l_@u ueieTESTéE  — STHD
D) U-augeu ushendgrég  — ueflwryy.

[a] | - o S [ Turn over
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138.

S-09
135.

1386.

7 36
Maps with diagrams and graphs are .
4) - Cartogram B) Thematic map " "
C) Photomap ' “D) Histogram, |
sueyLLbiseT npgud Syriyeeh Qasrredm_ Guot'n
A srt@Gurdlymp - B) a®meuenGul
O GuriGLrGuly | D) gﬂd\)@uﬂﬂgnfm. |
Which of the following is Geostatiofiary satellite ?
A Landsat 1 f B) NOAA
¢ SspoT | D) GOES. . 3
Fpssacupper ag yall Hloe GQoupamssGarer 7 -
A Geamism: 1 B NOAA - )
©) sPOT | D) GOES. o,
The highest birth rate in the world is found in _ - |
A Africa - o B Asia I i
©)  Europe | D)  North America. -
e adld sifls Npiy aldab aarraﬁmu@mm o | j
A] 2 nfl&am ‘ B} flur |
C)  gCymiur D) eu_ Gwflss.
Which of the following is a gold mine ?
A) Lorraine in France - B) - Ural in Russia
C) Randin South Africa D) Rhur in Germany.

139,

Spssatn_cippiel g shms GILSD ?
A Ogrerleyeiren G)e\\rrcchm '. B) peiywrelgueten yré -
Q) Gger gyniflssraligierer prei D) Qpioeligueier emit.

The most devastating of floods, which damages natural environment and causes
loss of human property in the world occurs in

‘A)  Mississippi- Missourl in USA

B) Yangtze-Yellow river in China
C) Ganga and its tributaries area in India
D) Irrawaddy in Myanmar,
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142.

| 3z . so09
s 0dCaCu s Qurewnren, @LLIDGD‘)&:& BPLISGD weflg G\&wg@&,&,@&@m
urglilenest gHUGSSID Glmsnmu @U@E@ Gamebngid gLo

A sonfés spidhu ;brrL_nguenarr HENA - Lﬂ@&mrﬂu u@ﬁ
B) #'scrrrmﬂgusnen mrrrut.é—tn@&efr ShpueH

.0 @pduralié: shems wHpb e gienezn péﬂasn LTy u@ﬁl

D) Buremnoflss gpraug) SHDUGH.
140.

Which one of the following landform features is due to degradation ?
A) Crater ~ ' B) Fault
C) Delta D) Peneplain. : -
Fpsscuppet ag @mﬁ,@gwﬂ)mﬁﬂs&r aqmmﬁq&eii a@@gmﬁa‘x L@?urrmg ?
A)  eflwene eurd ,. L B) UJerqy )
- Q) QLéLT ' - D) G\Dwﬂﬂd\@l&tﬁs&r.

In India, Wild Ass sanctuary is located at .
Al  RunnofKutch B} Coorg

C) Darjeeling ; D) Hyderabad

_ @mgﬂmwcﬂm FTB HUQGHEHSHET sl;rcwrrra)m amwmgarm @b
A) l}‘GOT 240 HLE B) s
C) wungdlelis _ : D) gagTuTs..
National Atlas of India maps are

. A largescalemaps 'B)  small scale maps

C) medium scale maps ) D) thematic maps. |
@hdu Craysréy S evev Gl _ _

' A) Guflu sereneuy Guoliselr B &hlu siemeneu Culyssir

0 widu a7 S Cuiiser D) &@euer Qulyser.

143,

The continental shelf of Indian ocean covers

A 4% ‘ - B 13-3% -

C 57% o D) 1%.

Qb eusdlysden Lyudie sipdr sem A6 uyiy

A 42% | ' B 13-3%

o 57% - D 1%

[ Turn over
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144. Which of the following components isrlmportant in the ahalysis of population
change in an area ? -

A Fertility rate | ' B) Morfality rate
.C] Growth rate- ) D) 'Migration'.' .
g flei LDG'.’:B:G"I'QEI'I"@&. mﬁﬁjbﬁ.&mm uglllurni.lq Qe a?goé,&,sb%n_ m&aﬂéa g
weHuoreng) 2 _ '
A Bellupss oldshb B @y aﬂﬂg,fn
O eertsd oIfpd D) gLuGuue.

145. The term ‘ecosystem’ was first used by - 7
"AJ “T. Robinson B A Qdum - ‘ . R |
"C) A G.Tansley - D) D.C. Willison.. .

G L6 LERTLGID- TETD euUTTEeG WG Weeller LuaTURGSueut

A T.grierees B A gub
O A G.LreevGer | D) D.C. abelsn,
146. The greatest datﬁage to hunian property caqsed by a earthquake occurred in
A November, 1980 Inltaly :  B) June 1990mlran

Ny —

C) September, 1985 in Mexico D) January, 2001 in India.
weflg Qedamagnsg Hs 2fls Copsag q@u@ﬁ,ﬂu@m 2Pt &8 Ggrrs&’tgﬁ\uﬁgi

Al peubLi, 1980 @\ssmellific B) g9, lwo,wqwéﬂé -
C) QelLiur, 1985 Qw&eﬁl@éwaﬁé«) D} gereufl, 2001 @hbSlurale.

'147. The largest wildlife sanctuary in India is situated at

A Ahmednagar | B) Dharwar

C) Stnagar | D) Surendranagar.
@rurais BaiGuilu mmaﬂmm@ &[] GTIT SULD a@mﬁ@eﬁeﬁ\@;ﬁ:
A) %mmsg,arf | L . B gmtemt

O et " D) &Crpdly pat.



SR | 39"
148. Map substitute is -
A General map ' B) Strategic map
C)  Atlas map | D)  Photomap.
CuinSpe L | | |
A QIJW@QS‘S)JUWTGLDI:M B é'!u_ Gm;lliq* -
Q) sped Gooy D) Gum G Guwiy.
149. The average depth of the ocean is | .
- < A 1690m | B 3940m
) C) 3790m -l D) 2900 m.
sLeNen syrafl gypb | _
A 16908 B 3940
Q37908 | ‘D) 29004, |

150. Which of the following is correct in order of population density ?
A} Bangladesh — Singapore — Japan — Korea.. |
B) Japan — Singapore — Bangladesh — Korea o
C) Korea — Bangladesh — Singapore — Japan |
D] Singapore — Bangladesh — Korea — Japan.
ID&EETLIT B @rﬁm&ﬂuq Epsacda cupger g afl 2
A mﬁ:&rren(‘ég&m — Aksiyt — gguurrdﬂ — Qarflwr
B) guurrsut ﬂlﬁmuu,ﬂ‘ —mm&rrerr@g;&m — Qfur
0 Oarflur — alisrerGpeb — Absiyl — Ruumes

D) ~ fhelyt — absamGged — Qarfur — guume.
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TEACHERS RECRUITMENT BOARD, CHENNAI-6. X09 (GEOGRAPHY)

BOOKLET => A(REVISED)

1 2 3 4 5 6 7 8 9 10
B A C D B C A A B C
11 12 13 14 15 16 17 18 19 20
A A B D C A D D B C
21 22 23 24 25 26 27 28 29 30
D A D C B A A A A A
31 32 33 34 35 36 37 38 39 40
B A B C A B C A D B
41 42 43 44 45 46 47 48 49 50
A D A C A A B C B D
51 52 53 54 55 56 57 58 59 60
A D A C B D B D D C
61 62 63 64 65 66 67 68 69 70
A B B C C A D A C C
71 72 73 74 75 76 77 78 79 80
B B B B A C D B D B
81 82 83 84 85 86 87 88 89 90
A C D D A * A C C B
91 92 93 94 95 96 97 98 99 100
A A C A B B A D D C
101 102 103 104 105 106 107 108 109 110
A A A D C A D B B C
111 112 113 114 115 116 117 118 119 120
B D C B C B B B C B
121 122 123 124 125 126 127 128 129 130
A D D A A B A A A D
131 132 133 134 135 136 137 138 139 140
A B B C A D A C C D
141 142 143 144 145 146 147 148 149 150
A B A D C A A D C A
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